COMBINED CIVIL SERVICES EXAMINATION = I
Group - I Services (Main Examination)
(Degree Stanclard)

UNIT-III : GENERAL APTITUDE & MENTAL ABILITY
(SSLC Standard)
i.  Conversion of information to data
ii. Collection, compilation and presentation of data
iii. Tables, Graphs, Diagrams
iv. Parametric representation of data
v. Analytical interpretation of data
vi. Percentage
vii. Highest Common Factor (HCF)
viii. Lowest Common Multiple (LCM)
ix. Ratio and Proportion
X.  Simple interest
xi. Compound interest
xii. Area
xiii. Volume
xiv. Time and Work
xv. Probability.
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Information technology

il.

1ii.

1V.

2|Page

Basic terms

Communications -

Application of Information and Communication Technology
(ICT) - Decision making and problem solving

Basics in Computers

Computer terminology
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TNPSC GROUP I MAIN
APTITUDE AND MENTAL ABILITY
PREVIOUS YEAR QUESTIONS

Prices of a particular commodity in 5 years in two cities are given below.
Find the city which had more stable prices.

Prices in City A: 2022192316

Prices in City B: 1020181215

@  GUUILL  CQUTHeTHERSHTRT  alewed  AIUIBIGET S  aIHLHIGH6IM6L

@rewiy  BEIRSTINBHE SO  CETHSSULLBeTeNH.  6hFH  [BBIHHD
allemey HMeOWITH 2 6iTeNGHl CTBILIMSHDH HewTLMIUIaLD.

A parsdHer alemev 202219 23 16
B parsgler alemev 102018 1215

Marks scored by 30 students are given below 41, 55, 48, 47, 53, 48, 33, 32,
42,55, 44, 38, 60, 65,71, 80, 41, 53, 47, 48, 55, 20, 31, 34, 42, 51, 35, 35, 26, 25.
Arrange the marks in ascending order

Arrange the marks as frequency table

Convert the marks into a continuous series of a class-interval of 10.

30 wrewiaiTsefen H1OUGIH6T SGD CBHTHHSBLILIL (HeTTerTe.

41,55, 48,47,53, 48, 33, 32,42, 55, 44, 38, 60, 65, 71, 80, 41, 53, 47, 48, 55, 20,
31, 34, 42, 51, 35, 35, 26, 25

(on go wopuied sl

(o) Haboeuem UL 1guwe(p.

@) 10 sugliy G GaleMuled OHTLTUTS QUHIDTN 6T(LDS).

Mention the methods of collecting Primary Data.
(1PH6L Hlewev aleugmiseT CFaMeslILBLD (PHBEHENET Fnmld

What is meant by secondary data?
BTewILTD Hlewev aleUJEIH6T 6I63IBT60 6l6tTen 6l6ilLIeng aleul.

Define mutually exclusive events with example
QeiTemBOWTEIB alevd@GHD HopFFmul TBHHHISHTL BHL 6T aleur]

Distinguish between General Purpose and Special Purpose table.
CuTgkl CBTeHE Sl Laumanid@Gld By ChThE DI LeumenidbGD 2 6o
Goupiur® wirg)?
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10.

11.

12.

13.

14.

15.

16.
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Mention any three types of Bar diagrams.
UlenL allendall ULmIGaTar auendHerilsd JCHeID cLaipslenst 61(LDSHIS

Mention any three diagrammatic representations of statistical data.
Leital alugsgled allendbsll UL SHH6 amdHeT JCHMID C(pailenBd &nmBisk.

Write the advantages of diagrammatic presentation.
allendball LIL ST HeIenLHEN6N  61(LDSHIS.

When is Broken Bar Diagram used?
2 MLbHH LULenL alendbsllLLd 6iIGUTIpEH LWSLIGSHSUILIGSEIBES?

What are the various parts of tabulation?
Sl L auenenl LB HHISH6V6 GleusiBaim LIGHHeT wimeneu?

Distinguish between diagrams and graphs.
aleN&aL LULMISEHSHGID UL RISEHHGWD BenL Gl o 6ifen alldhSHuTFhIgS6N
wimeneu?

Distinguish between Pictogram and Cartogram.
® (Hou alenssluLLd wBmIb WGsTen auedyuULLD - CoumibhsHeHs

Draw a simple bar diagram for the following data:
Classes No. of Students
B.A. 40
B.Sc. 60
B.Com. 50
B.B.A. 30
@ OEBTHGHHLILL (HelTenm aleuImisehd@E 6amul L enL alemdbaLLLLD aIen]H.
QUGS LILISB6T LDIT 6301 6)IT &5 61T 60T
6T6UOT6U0T b 6N &
B.A. 40
B.Sc. 60
B.Com. 50
B.B.A. 30

State the utilities of 'Ogives'.
‘@endel BeMelT LILIGTUTBSM6TS Tnidb.

Define kurtosis with the help of diagram.
AUMTLIL ST 2 FHalujLel S L SleMeneuenwl aieurl.
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17.

18.

19.

20.

21.

22.

23.
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24.

What are the different types of classification?
AUMBLILBSHHISH6VI6 LIs0Gaum aUMBHET WITene?
What is meant by Classification?
AUMSBLILBSHHIHD DLV DTILBSHHIHED 6IGIMBITED 616016017
Mention the differences between the inclusive and exclusive intervals.
o awiewioll Lfle] @ewL OQeueld@id, CHmmmil fley @enL Geuelaemd@iilent Gui
o eitenn Coumuneenend GNILILI(HS.
Explain the difference between inclusive and exclusive series.
CoiTHaIs HSHH(BL (POBEHGSGLD, HATHHH SHMIGHBLD (PMBHGWD 2 _6iT6n
AlHHWUTFHmS N6 G .
Define Skewness with the help of diagram.
AUMILL e 2 FHalujLer CaT L Slenensuenul aieurl.
Data collected fresh for an investigation are known as
UINSHTH, UHHTE CFafldbsliuBl aleugd LG
Draw a histogram from the following data and hence find mode:
Class 0-10 [ 10-20 [20-30 |30-40 [40-50 |50-60 | 6070 [ 70-80 [ 80-90
Interval
Frequency | 5 11 19 21 16 10 8 6 3
Speien alLImISEHdHE CFHTLT CF6leusd eUdIhHE, (WHBH SHTEWIH.
LTy 0-10 [10-20 [20-30 [30-40 [40-50 [50-60 |60-70 |70-80 |80-90
BenL_OGlauer:
DIemeL6IeIEmT: | 5 11 19 21 16 10 8 6 3
From the following table draw a histogram.

Wages in Rs. No. of workers
0-10 5

10-20 8

20-30 10

30-40 14

40-50 11

50-60 6

60-70 3
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SaTapld alauhSEhHGH @(H LJaled OFaials aumIULLD HUITidheea L.

oa gD HUTUI60 Bouemeouim s61Ml65T 6160676801 6M S

0-10 5

10 -20 8

20 - 30 10

30 - 40 14

40 - 50 11

50 - 60 6

60 - 70 3

25.  Explain the construction of histogram.
uFeued OF6leud UMTLLLD DIHIDHHM60 a6 EH%b.

26. Mention the different parts of a standard table.
I L auenentuiler LTEmIGmen GHBIILTNGS.

27.  Represent the following data by means of a suitable diagram:
Numbers of male, female and child labours in two states A and B in a year
are recorded below:
State Male Labour Female Labour Child Labour Total
A 1,50,000 1,05,000 1,20,000 3,75,000
B  3,40,000 2,00,000 1,40,000 6,80,000
LNeitau(hd alUFmISemeT HSGHS UEDTLIL LD ¢LpevlD ailend @ :

P AUBLSHF A, B @ B ITHleSSlevieien ke, GILERT BGID &b
Oampeomeniaerent elemrentdend LlaTeUHLOTBI &H6evIL MIWILILIL (HeiTerT

IDTHGVLD ST OILI6uT GBS QLOTESID
CampevmeniTaet OHmPevmenitaeT GGmPeomeniTaHelt

A 1,50,000 1,05,000 1,20,000 3,75,000

B 3,40,000 2,00,000 1,40,000 6,80,000

28. Draw a pie diagram for the following data :
Agriculture  12.9%
Irrigation 12.5%

Energy 27.2%
Industry 15.4%
Transport 15.9%

Social Service 16.1%.
SIpaemiL LeTel aleugsHaHm@ eul L alenSEUULLD 6Uem)sH:

GeoueTTeusTenLD 12.9%
BTLILITE 6OTLD 12.5%
Fobd) 27.2%
QHTHBFTEM6V 15.4%
CUTdHG T HSI 15.9%
gops CFenel 16.1%
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29. Draw a blank table to show the candidates sex wise appearance for first
year, second year and third year examinations of a University in the

faculties of Arts, Science and Commerce.

RH  LUSHMEVHBIDHHH60 Henev, Slaluled BEID  euemiBD LML mIHeiTleL
(PFHOTLOTewI(H,  @JewiLmoTeni(h  B@ID  cpeipTd  ewi(hdeied  BHiTay
Wl Lomewie, LoTewialEemeT  GMILLIL  @(h OeuBml DI L euenenT  GHWITT
AEIIES

30. Given the frequency of various academic background of students joining
Civil services, what would be the most suitable chart to depict the same?
Gl Leniuled GF(pD WTemIaUTHEMN6T LisveumBWITERT HeLalld  O\FHTE S U6
SlemevGleuent OBTBHBILLH, ICUTH BHBE WSGHHS HSHIHWITET 6UeFLIL LD
61gl?

31. Write a flow chart to find out the largest number from a given set of 100
integer numbers.(question incomplete)
Carhsasiiu’ L 100 apap elewideiled @ mbHEH LOUOLIT 616w0Ten6ewT  HT6NILIGH BT 60T
@@ @b LLLD euemIsH

32. The following is the pie-chart showing the expenditure in the year 2005 of
a family. If the total expenditure is 900, then what is the amount spent on
food, rent, education and savings?

Savings

: Food
Others

Education

Clothes

Rent

QM GOhLuSHer 2005 eugBETar  GFeve] aleuld  HDEHSTEMID  GulL
AUMILIL HFH60 OBTBHBLILL (HeiTenigl. OLoTeHEH 0Feva] 900 616led aUTLen&H, SH6eval
wppid Caulliler GgTamaullaneid HTemayL.

Qe

, FELUmh

@55 Asesy

seefl

QUL onG
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33. Life of bulbs (in hours) given by two suppliers A and B are given below:

Supplier Life of Bulb (in hrs)
A 40 45|50 |45[40|35|55|40 |60
B 35|55]65|75[45|50|70 60|30

Consider the statistical measures: Range, Standard deviation and
coefficient of variation and decide on the right choice of supplier.

Brewih 2 BusHHwTenTeer A oBmId B-oued eupmisiiil L usdLler &Tev Siene)
(pemiluflev) &Hp GBTHHBLILIL (BTN

© _MBUSHSHWITENT LeOLleT &mev Seey (oewfl GBydHalev

A: 40 (45 |50 |45 |40 |35|55|40 |60

B: 35 |55 |65 |75 |45 |50|70|60 |30

alFH, FHL alevdsld, TRUT. BE 0B 6B LeTaiululsd Siee| ClaTeami(,
gllwrenr o _pusbdHwrenengs BCHitey GCFUIs.

34. A survey of 300 families was conducted to study income levels versus
brand preference of a product.

Income / Brand | Brand 1 Brand 2 Brand 3
High 55 45 20
Medium 45 25 25
Low 25 35 25

What is the probability that a family selected at random prefers
brand 3?

A family is selected at random and found to prefer
brand 2. What is the chance it belongs to medium group?

If a family is selected what is the probability it belongs to high
income group.

T GCaTHOsbBHHIL L OUTHeTeT SIeHLUWITEND OBEBID FLOU6TD  SiglienLulev,
300 GBuBBmens OCBTemi(h SLule] OFuIWIILIL L I

gmumm/@l@Lw”mm L WTeTD 1 | OemLwmend 2 | SewLwmernd 3
SIFBLD 55 45 20
BHSHSILD 45 25 25
GenBelTSH 25 35 25

aUTUWINL (pemmulled eT(BHSLILLL T GBULD SienLwWimend 3-g3 all(hHUuwTS
OBTERIL M6V HHLDHH6 616316017

SlevLwWmend 2-23 all(oliuwTe O&mewL eumwiiiy (penpuiled e1B&HSLILL L
65T GBLUSHE Blssse| e’

aBsaIULL  @GGUWUD, DHS Fouend OFBTENIL  UMBMU  FTIHS
BBLDHH6| 616516017
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35.

36.

37.

38.

39.

Five kids were grouped together in a school with weights (in kgs) as 12.5,
14.2, 13.7, 15.1 and 14.5. Later the kid with 15.1 kg was replaced with
another kid of 15.4. What is the increase in median weight?

QT ueTeaflulled MBI GHWHMHH6NT 6wl uler Siglitient uled LIflebalILbHE 6TmeTT.
wpeopGuwi 12.5, 14.2, 13.7, 15.1 wpmid 14.5 eewLwngd (kgs) Westert 15.1

aenL  OBMewiL  GhenHemul 154 &H.&. el  OFBTWIL  (GHLOHMSHUITEL
LMBEUILGSEIBS. DCUTINSH DL Blenev 6TenL Ul 2 _uliTe] 666 ?

The marks obtained by 50 students are given below :
31, 13, 46, 31, 30, 45 38, 42, 30, 9,
30, 30, 46, 36, 2, 41, 44, 18, 29, 63,
44, 30, 19, 5 44, 15 7, 25, 12, 30,
6, 22, 24, 37, 15, 6, 39, 32, 21, 20,
42, 31, 19, 14, 23, 28, 17, 53, 22, 21
Construct a grouped frequency distribution.
50 omenteuTderent LDGILIOLIeHIHE6T SH6 OleTHebSLILIL (BeT6NgI.
31, 13, 46, 31, 30, 45, 38, 42, 30, 9
30, 30, 46, 36, 2, 41, 44, 18, 29, 63
44, 30, 19, 5, 44, 15, 7, 25, 12, 30

6, 22, 24, 7, 15, 6, 39, 32, 21, 20
42, 31, 19, 14, 23, 28, 17, 53, 22, 21
CHTGUL HBLDOeUENET LIT6Uem6V [HITLOTEIT.

Find the mean and standard deviation of first 10 natural numbers.
WFHeL UHSH Bulev elewiderlesr Fgmafl oBmid L eleudbsld SHTewism.

The following are the runs scored by two batsmen A and B. Who is the
better scorer and who is the consistent player?

A5 |7 |16 [27 [39 [53 |56 |61 |80 |101 |105
B|O |4 |16 |21 |41 |43 |57 [78 |83 |90 |95
A oppib B eeiim @yewip SfMaCsl afftaet GUBB gl L Misefer  ailLgmiser
STULL BTN HMenowITest L L SSTIT WTT 6TI6IBID  HleDEOWITET gL L &BMiT
WIT  6TeuIE  SHITENTE.

A |5 7 16 |27 |39 |53 |5 |61 |80 |101 |105
B |0 4 16 |21 |41 |43 |57 |78 |83 |90 |95

Calculate Harmonic Mean from the following data:
Marks: 0-10 [10-20 |20-30 [30-40 |40-50
Frequency: | 5 10 7 3 2
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SpEHemIL aleugmiseled(hbah Bemasayrall HeisbsbHs

LHIIGLIERTS6IT [0 — 10|10 — 20 [20 — 30 |30 — 40 |40 — 50
681 O\66IT 5 10 7 3 2

40. Convert the following distribution into more than cumulative frequency
and less than cumulative frequency:

Weekly Wages ( Rs. } No. of Workers
0 - 200 40
200 - 400 | - Bl
400 —- 600 64
600 - 800 38
800 - 1000 7

&@1p @aslrr@ésamul'_@mm uyeuenev Goedlenr @GHale] LITaleL LoBBID Sifler@ale]
LIJGU60&H6TE  LOTHBMIh:

aurgrpdly %68l (5. ) ueslwrent & efler aabraflsars

0 - 200 40
200 - 400 51
400 - 600 64

- 600-800 . 38

800 - 1000 7

41. Calculate the standard deviation from the following data:
14,22,9,15,20,17,12,11
SIpHWIL  alauImIsaTel(BhEH FHI L alevdsHms Hewlohd (Hb.
14, 22,9,15,20,17,12,11

42. Prepare a continuous frequency distribution for the following data:
15/45(40]42|50| 60|62 |68 |70 |42
75|75[80|81|25|26|31|32|78|45
3145|4243 |55|56|78|80|81]|62
606258 69|70|45|50 |56 72|58
7516262 ]65|60|70|35|37|40]|55
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&6 OaThdsUILL(HelTen  aleuIhisEnhsHE& OHTLT HHDOeussT LIFeUed  SHUITT
Qauls.

1545140425060 |62|68|70 |42
7575|180 |81(25|26|31|32|78|45
3145|4243 |55|56|78|80 |81 |62
606258 |69|70|45|50|56 |72 |58
7516262 |65|60|70|35|37|40 |55

43. Find the year in which the ratio of sales and other income to shareholders
funds was maximum.

Share helders fund Sales & other incomes
:]Reserve
[~ Equity capital
Ay taptia 3940 298,83
25.54 188.09
106.15
9.62 | 61.71
7.68 ]———‘ ) 41.58 l——l
1972 1974 1977 1979 1982 1972 1974 1977 1979 1982

abd Slewiged BT LOBBID LB eUHLOTEID, LmISL L TenTHeen Biglulles
BB DFHBTH B (HHGLD.

gL merisafien Hifan alldlgid eflpuenar WHHD 19D uHDTETD
:] oSl ags npmgand :
-m Foe. Pepln ApeIHRTD
e 39.40 298.83
25.54 ’ 188.09
16.42 _ . 106.15
9.62 e e 61.74
7.68 e e 41.58
1972 1974 1977 1979 1982 1972 1974 1977 1979 1982

44.  Write the mathematical properties of Arithmetic mean.
L BFFITaNuliel SHemIdbdUIed LIGHILISHm6N 61(LDSHISH.

45.  Explain the functions of an average.
@ Fgrgfuler uemlsener aleufldseb
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46.

47.

48.

49.

50.

51.

A man sold a house for Rs.4,000 and lost 20%. Find the cost price of the
house.

QAT @ il 05.4000-6@ ealBmsled 20% BLULIDMLHSTT  6lefled
DAL I96T 2_6WTeNID IeN6D HITCITS.

The population of a town is 80,000. If the population increases

20% every year, find the population after 3 years.

QM BIISHT  WWEHFHeT0HTmd 80,000 WwWHFB6T  OFTME  HLeWIBES
20 FHiBHD 2 _WI(HLOTEITED,  CLPOIBTENIBHEHEHEG LT 2 6o  DSHSH6I
OFHTMBMUW  H6THH (Hb.

A man sold two horses for Rs.990 each gaining 10% on the one and losing
10% on the other. Find his total gain or loss and also its percentage.
QBT BT GHMIHMeT HeOT H.990-5@F alBBH6eL, @aisled 10 FHAiHLD
GUTLI(LD oMM 10 FHAIHID BLUL(PD SHDLHSTT. DleufH OLOTSHEH 6UTLI(LPLD
DIVVEH BLLHMBUID DIHeT FHMHHMBUID HewThdH B."

A man buys oranges for Rs.x per dozen and sells them Rs. % per orange.
What is his profit in Rs. Per orange?

QUHUT 1 L6l Jehd h.X &E& 6UThS  |H6ne6 @% Q(H SDLJGhTF 6160l
AlBESWIT. SUHES DMLSGID SeoTUDd (¢h.al60) QRH DTEhFHDHE 6lalaleTe]?

A man sells two wrist watches at Rs. 594 each. On one he gains 10% and
on the other he loses 10%. Find his gain or loss percent on the whole.

BQyewih  MBHBYBTIHIBET  @elCeuTaTenBUID o D94 &E& @euT el
ety aiBmFHed @eimled 10% eomud wBmgHed 10% BULWD SIeIHEG

IBULLGI. OQTSHHHH60 DleU[hHBEG 6IMULL E6TLD SILeVH Bl L FHalHmBHD
BITGIRLD.

Find the selling price (SP) if a profit of 5% is made on:
a. acycle of 600 with * 50 as overhead charges
b. alawn mower bought at 1,250 with "100 as transportation charges
c. afan bought for 650 and expenses of * 40 made on its repairs.
BpHBEHIL. QUT[HL BEHHEG D% OTUSHBGH lIBLUMET alenevenuish HTewHID.
(@) @@ WFHaiemig 600 &@& aummhslU’ G 50 B&) GFevaldmeT GFUIWLIILIL LT
(&) @@ Yoo Geul B Gumpl 1,250 eummisliul (B 100 Curd@eaurshd CFeve]
Cauiwiul L gi.
(®) @wm Wear aldpl 650 &@ eumTmIsLLULG 40 LIRSHIUNTSSLILILL F.
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52.

53.

54.

55.

56.

57.

58.

An item costing Rs. 200 is being sold at 10% loss. If the price is further
reduced by 5%. What will be the selling price?

eh. 200 wAligeten @ Gummer 10% mad S0 alBsiur Lg. Guwed 5%
allemey GHMBHBUILLLTEL, HIOUTHeT (alBasliul’ L) (o)) aIBm elensv 6Teiren?

If the numerator of a fraction be increased by 15% and its denominator be

diminished by 8% the value of the fraction is % . Find the original fraction.

@@ Ueaenl ugdulear e 15% oidsisdpg. alegd 8% @mpang

. . . 15 ) . . . . .
oTea60, DIFHE LD 6 oTe60 2 GWIEMLOWITEN L16oTedl Lo IeNLIS BTN,

The population of a town is 1,76,400. If it increases annually at
5% what will be its population 2 years hence? What was it 2 years ago?
@@ HEMeT 1HHeT  CFTens 1,76,400. Six1 5% oFHsfbma  eT6mBTeD
2 OLeWI(BH6NT HPHFH EHH6T OHTend 6T6ien? BTewih DLEWIYMBE (PG| LDSHSH6IT
OFHTend 616016017

A man sold two horses for Rs.990 each gaining 10% on the one and losing
10% on the other. Find his total gain or loss and also its percentage.
QBT BH GFHIsmen ealbauTaiemBud  @h.990 alBGL OIS
gt alemevullsd 10% eomuHewSWD,  BOBTEME  allensvulled
10% ped Smeud UBIABTT eafled oeuT GQUEBID S6eUTUD  &IEVEISI
BORL LD LOBBID SleuBBlel &S HhIGHmeNTs: SIS

The population of a town is 176400. If it increases annually at 5%. What
will be its population 2 years hence? What was it 2 years ago?

R BBITHIHET BT  CFHTensd 176400. auBLSHBEG D% DIFH®IDTEITED
2 QUBLMIB6MED LDEFH6T OFHTems eelelene]? @Feni(h MUBLSHMBEG (WILITH
6161161161T6) ?

If a number x is 10% less than another number y and y is 10% more than
130, then find x.

X el elewt Y oi¥B elewiemewt ol 10% @enBHHID, Y 616813 6lewtenflen OS]
130w i 10% oiHsorEad SHbHSHT60, X-681 WHIL] ST

Find the greatest number less than 10000 which is exactly divisible
by 48, 60 and 64.

48, 60 1oB@ID 64 SFU  elewidenTey  WHF Fllwns  eu@GuUBLD,
10000-3 &l @eomhs Wsll Cuiflul eletTenswnid HITewH
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59.

60.

61.

62.

63.

64.

65.
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Find the smallest 5 digit number exactly divisible by 16, 24, 36 and 54.
16, 24, 36 1oBmIb 54 B eewidenTev WeF Filwms euGuBLD. WsFHAnBlw
WhH BeVHSH 6160T6060TE  SHIT6II5b.

The traffic signal lights at three different road crossings change after every
36, 48, 64 seconds respectively. If they all change simultaneously at 7.30

hours then at what time will they again change simultaneously?

epaiiml Coumu' L OFm (pedeiled o eifen CUTEHGTHEHI Fdhered allend@ el
(pemmBw 36, 48, 64 aleimgseflled Fdbered WTBISIWeT. RFHI CLOSIBILD 7  LD6wO
30 PIOLSFHe0 eedtm Gumev LOTBID 6T63N60 LOBI(LPEDM 616G o6 GHTHEHeD CLPGTBILD
el Gumev LOTWID 6160 HeWIHH (Hb.

The LCM of two numbers is 14 times of their HCF. The sum of LCM and
HCF of those number is 600. If one number is 280 then find the other

number.

Bm eeuiseien OFHAM  OUTHIDL BIBTEISH Dlwaubeier OHOLMm QU
smyeniuler 14 wLmSTGW. WBFFAB OuUTHIoLBIG wBmd  BHouwm Curg
smyeniuler gapHeo 600 SLGD. @  elewienimerdl 280 eefled  LOBEBT(H
616001 GNGIITED  EBITEHT .

L.C.M. of two numbers is 14 times their H.C.F. The sum of L.C.M. and

H.C.F. is 600 if one number is 280 then find the other.

@rewi(h eTewismeren L5.OUM.ID 14 LG 16.0ur.en o5 @@Hliler, w.GUT.Lb,
B.0ureu alest gl BH OoTend 600 iHeybd, T 66w 280 S5 SmULle,
LOBOIBT(H 61600160601  SHTEII6LD.

Find the HCF and LCM of g,ﬂ and 32
9 27 81

g%% ayfwepper B.0urs (HCF) wipw wB.0urw (LCM) stevs.
How do you divide Rs. 680 so that A gets three times more to B and B gets
four times to C?

. 680-emer B Gumed cwpeiim LM A-SGd C Bumed BTG IDLMHIE
B-&@ eteueurm LMACLmuI?

A milk can contains 10 litres of milk. 3 litres of milk is taken out of it and
3 litres of water is poured into it. Again 3 litres of mixture is taken out of
the milk can and 3 litres of water is poured into it. Find the percentage of
milk and water in the milk can.

QM UTSHHTHH 10 ILLT Sleney LT 2 6Tendl. DUHeNHBHSH  Q@UHEUT
3 LT utemev eihHEH Al B, 3 ULLIT Hewiewieny aBmISMIT. LOBEMBT(HEUT
SIbBevmIUTNHHSH 3 LT 6iBHH ol B, 3 60 LT HewrewiT 2emBmISIMITT.
BUBuTe SILUTHSHTSHHL 61HHMmenT al(LPSHSHT(H,LUT60 OBMID HewTewnlT 2 6iTend?
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66.

67.

68.

69.

70.

71.

A bag contains one-rupee, two-rupee, and five-rupee coins in the ratio 5 :
7 : 12 amounting to Rs. 395. Find the number of coins of each type.

QM euuled 6@ dpUTWI, @gewi®  HUTWI, @h&H  HUTUI  [HTEIWLIMISEIT
oTewienfldemad 5 : 7 : 12 oaiB aldSlHHHe0 2 _6ilener. HTewIUIBIGBIET CLOTSHS
FHILY h. 395 eTefled, @AICAUTH UMD [HTCITUIRIGET6T 6160T60NHMS 6161161616
61601  SBITENIT .

Rs.162.80 are divided among 5 men, 6 women and 10 boys so that each
man may get half as much as a woman and each woman twice as much as

a boy. Find the share of each.

h.162.80, 5 SuewiH6ei, 6 OuewiseT wBXID 10 evuweser el Guw UMSHa
SeMSSILGHBS.  PAUCUTH UeEMISGID, @(hH GUGIamISGHD Sl LLmSHLI
Gureipl 9wy  WLEIG — SFBHHOTHD, @eubeur(h  CUeNIaMISGGHD  Qh
mUWISGHD SenLluensll Gumed @ LmIGD Hewsd Couswi(BLD 616iIMmT6D,
@elQeuT(heuflest LmIG wmgl?

Ifa:b=5:9andb:c=4:7.Finda:b:c.
a:b=5:9,b:c=4:7 45 Smiier a:b:car wHiemu HTewHs

a. Kumar takes 2 hours to travel 70 km. How much distance will he travel
in 8 hours?
b. The cost of uniforms for 24 students is 6,000. How many students can

get uniform for 72,000?

(9 ST ereileuT 2 wewfl CHIHHe0 70 &5 HMID HLSHHMIT eefled D6
Gousshaled GgepTed 8 enll CHISHHL SHMID &SLbHH  SHLILMT?

(81) 24 WTMITHEHHEG FhHenL eUpmIEH ah 6,000 OFevalTGd elefled p 72,000
&G 61HHEME LOTWITHEHHGHF F(HeDL  QULPHIGHEVTID?

a. At present Harish’s father’s age is 3 times Harish’s age. 5 Years before,
Harish’s father’s age was 4 times Harish's age at that time. Find the
present ages of Harish and his father

b. The sum of three consecutive natural numbers is 3666, then find the
numbers.

(o) amfader Hhnsulsar euwgTarg SHBOUTH anfader awmSHIGUTED (LH&TIBI
LRISTGHWD. 5 UBLBISEHSG (pei, amfadea HHenHUlET ULISTRISD
SIHCHETIHH 0 anflader auwmaml Gured 4 LMIG ealed anfad BBID Sieufles
FHhenHuler SBOLTHHW 6UULISHISHEM6TSH HT6HIH.

(&) WwaBl DIGHHBHHSH BUIeL 6TewIHeNea nBHe0 3666 616160 16116616 SHM6NH
SBITE0I .

The difference between the compound interest and simple interest on
certain sum at 8% per annum for 2 years is Rs. 240. Find sum.

AL el 8%m& 2 ouemihHefled @ OFHTeNHHHTRN Fnl (Bl lg OBEBID
SHalaU 19ShaTer alSHHWTFD hH. 240 6IHIBTL HIFL OCFHTMNHMUWIS HTE0IH.
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72.

73.

74.

75.

76.

77.

At what rate percent per annum at simple interest will a sum of money

double in 8 years?
al(p oeumLmB6TNL @ OCFTens @I uluns  CeuemiBOeaied LI BEHSG
SMSHIL UGB Heolaul g alHHD eladieieuTd O hHdHd Ceuewt(BLd?

A sum of Rs. 2,000 is deposited in a bank which pays compound interest
for the first year at r % per annum and for the second year at 5% per
annum. If the maturity amount at the end of second year is Rs. 2,163, find
the value of r.

aumg eamled ¢h. 2000 Gy OeTemswns CFISSILGHDBEH. Tl (b ULl
SIeNGBGID UBIAWTEHI (PH6O DeWIgBGH T% Ul lgu|d, SJERILTID SLETIgBE
5% e puid oefcdBa. BrewiLmd ouewih  (pgaled QuUBLLLL  (pHTesH
OaTems . 2,163 6leiled I-B6i LOFHILNN6T HTEWIS.

Divide Rs. 5,450 into 3 parts so that the respective amounts at 4, 5, 6 per
cent in 3, 4, 5 years respectively may be the same.

ah. 5450 cweim utsmsennas  Uflds,  oewel  wpewmGw 3, 4, 5
SewibHelleo 4, 5 1BYID 6 FHIHD el AlHHHPH60  FLoOTE
OpTensamw &I Geuswi(BLD.

How much money lent out at 5% per annum simple interest will amount

to Rs. 900 as interest in 3 years?
aelelene]  OFTensd  SWIBHG S5 2 FHeled  SHalallly  alBHHHHe0
3 ouemipHerfled ¢5.900 Hefaul 1genul OBTHEHESWD?

The interest on a certain principal amount at 10% per annum compounded
half yearly for 6 months is Rs. 2,100. Find the amount invested.

opewigB@  10%  efpld  SeEIwmesiged gl B eIl HETBSL6D  CLPEVLD
GBRUI'LS OCFTensdd 6 ISEBEHSGL OupLLLL  alyd OFHTens
. 2,100 e1edlleD, (WFHeSH G’ L g OFHTenHmUIS SHT6IH.

The simple interest on a sum of money is gof the principal. Find the rate
of interest and time, if both are numerically equal.

QM  uewigh OFTensuile Tl Holaul puwimeard (PHeSLBH OCFHTemnasuied
g UGHWTGWD. aully aiFHlD LoBBID SHTeoD Ldlulenr 6lew! LOFHIILT60 FIOD 6Teil6v,
SIQUBNBEH  SHTC0IH
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79.

80.

81.

82.

a. Find the simple interest and the amount due on 7.500 at 8% per
annum for 1 year 6 months

b. A sum of money triples itself at a simple interest rate 8% per
annum over a certain time. Find the number of years.

c. Find the rate at which the sum 20,000 yields the simple interest
" 8,000 over 5 years?

@) 1 7500 && 8% eanly olHb @F QEHLID 6  IDTHBIGEHHSTE

SHeoeUL 19eDWIUD OHTENHEDUIUID HT6wI5.

(&) @ GUIIILL SiFeras 8% salally aldsHdHed abHmen Qe BHH6Me0

CLPGOTM| DL RIBTGHLD 616018 BTGNS,

(®) o560 1 20,000 && 5 SewihHeie0 Heflalllp 1 8,000 HenL SHMGH elefled

ALY IHHNHH HTEWISH.

Rs. 21,765 are divided among three brothers A,B and C aged 17 years, 16
years and 15 years respectively in such a way that each receives the same
amount at 5% p.a. S.I. when he reaches 18 years of age. Find the share of
C.

(A, B, C) wenpGuw 17, 16 w@mib 15 euwsmer cpaip FCasrayTseient Gu
¢5.21,765-23 SlauTHeT HelHHaMBw 18 auwensd SenLujld GUTIEH SLIHHE
5 FHAIHLD Heoleul_lgulev &LOLDT6T OFTenHenU SI6ML UMD
Ufsseidsliubdng. C-a1 LRmE Hanshd[BHb.

A cyclindrical tank of diameter 35 cm is full of water. If 11 litres of water
is drawn off, find the drop in the water-level in the tank.

35 cm @il L(lpeiTen  @(H 2 (HewelT  aIgaIHeuTeniT QBT 19  (LPIDAISHID  HewTemiT
o eitengl. OHTUuledmba 11 LT HewiewfT eIhHBILLH Il LGl el6lev,
CaTLIuieIel BT L SHHe0 gBUBLD alpFdlemwid Heaui(BLIY

Find the number of lead balls of diameter 1 cm each that can be made from

a sphere of diameter 16 cm.
16 G&.18. el LpswLwl Gasmenmiseilelpbg HLbGHD 1 OF.15 el L (penLw
Flwd CHTeNmIS6T 6T6mT60N&HmEBENUIS SHT6IIH.

Four horses are tethered at four corners of a square plot of side 63 m so

that they just cannot reach one another. Find the area left unglazed.

63 1§ udsD OCaTewiL FHT WU BTG (LPMEIH6T60, eITenBOILITEIB
OBHRISTHLIY BTG GHSHmIHeT HUIBTed &L L LU (helTerner. GHengHen Gouirs
UGHUIST LITLILeTe| SHTeul.
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83.

84.

85.

86.

87.

88.

CHENNAI

A circular swimming pool is surrounded by a concrete wall of 4 ft wide.

It the area of the circular wall surrounding the pool is ;—;that of the pool,

find the radius of the pool?
QM QILL 69l [bHEFFD GHOMD, 4 Sl DIFHEVPMLW SHTEIHML  FH6UJTeL
GWLILL BeiTeNgl. HFFeL GHNHMHF FMNl 2 eiten Geufledt LTFULTEIHI, (G660t

LI 6ot %@U@&S&Bﬁb oTeuNleL, (HEMHHIT SLILD BHTCwIH.

An equilateral triangle is described on the diagonal of a square. What is

the ratio of the area of the triangle to that of the square?
RH FHTHH cpenev Al LSHIHST 10FH @@ FoUSS (PpHCHTeRID  eUenFUIL]
UL (BeiTengy)l. FHTHBIL 6, (pHGsmewt ugliLienalet aldSsHbd wrg?

The diagonal of a rectangle is 17 cm long and its perimeter is 46 cm, find

the area of the rectangle.
Qb OCFealaussFHar cpemevall LD 17 GF.10 9iHear FBmene) 46 OF.5 erelled
DISH6T LITLILIGTEN6UES HT6u155.

A cow is tethered to one corner of a rectangular field of dimensions 60m
by 40 m by a rope of 28m long for grazing. How much area can the cow
graze inside? How much area left ungrazed?

GFaieus eugaieomer 60 m X 40 m ufoTewrd OHTERIL H6ENMHH60 @ cLPeMELUTEV
@ ugs GCoulusBsTs 28 L5 Hemperen suiBplenmed &L L LU (BeTengl. LoT{H
HeNSH et 2 L Lporsd Guouyd uplitene| eleten? wr®h Guwimg HendHdHle LIFLILIeT6
616016017

If the volume of a right circular cone of base radius 4 cm is 16 w cm?, then
find the slant height of the cone.

LSS U L SHer b 4 0F.16 GaTemwi @ el L ChTamlbLIe Her Dierey]
167 &.05.10. aafled SIFHeT FTUIOUITID SHTCIOTH.

In a right - angled triangle the hypotenuse is 242 times the length of the
perpendicular drawn from the opposite vertex on the hypotenuse. Find
the other two angles.

M Osmbasren (PHCaTahdHled CFRCHTONSHMBEG 6IHMNeL 2 _6iTen LISHHSH S 60
BOIOTOIEH, b USSHHBG eFHiled o aen o FHuled EphHEH Db
LbBSHBEG UMIWIILGL CFRGsT 96 Batdbmall GuTew 242 LRIE ealsd
BB Dreni(h CHTeEImISMETUID HTCIIS.

18| page APPOLO STUDY CENTRE PH: D44-24339436, 42867553, 3840226187




[APPQ) Lu]

STUDY CENTRE

CHENNAI

89. Find the area of the square ABCD given in the following figure:

Y

{0 1)

AN
/

A(LO)

T
50
cj////i:

{0--1}

UL GFHeo o eiten FgIgib ABCD-681 uplienu &memis.
Y -

{0 1)

AN
/

:-l.co\)/‘“-"—"x
D101 |
90. In the following figure, AB =10 cm, BC =15 cm, AD : DC = 2: 3 then find
ZABC.
A
D
130°
30°
B c
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91.

92.

93.

94.

#SBp 2 6en AB =10cm, BC=15cm ugsHev Guwep AD:DC=2:3
elelled LABCdb HMewish

A

130°
30°

B c

The diameter of the wheel of a bus is 140 cm. How many revolutions
per minute must the wheel make in order to keep a speed of 66 km
per hour?

QMH Lo FoHIHIHe all L 140 GF.6. b wewll ChIsHaled 66 &H.15 Cousdhams
HHdH maUSHFH FEHID @bld CuTg aHIMB SHFIOBFDHET @@H HILOL HH6L
IBUBSSID?

If each side of a square is increased by 25%. Find the percentage change in
its area.

FHTHHST DIMAHH LUSBBEIBEHD 25% aiHHHed OIFHHIOTEINT60, LITLILIGTONGT
FHNSH LOTHBBHMS SHT6HIS.

(a) The difference between two numbers is 5 and the difference between
their squares is 75, find the larger number.

(b) The area of a trapezium is 160 cm?. If its parallel sides are in ratio 2 : 3
and the perpendicular distance between them is 16 cm, find the smaller of

parallel sides.

(o) B aeuseEnrdd DL Cuw o sfen Couput® 5, SDleuBMle 6UTHBHIBEHDHE
AL B o _siten Coupur® 75 eiediled Sisuail(h elewidberlesr Guflur &y wrg?
(@) @ gFflassdear ugly 160 OF.162 SeubBler SemenLbsnhiser 2 : 3
o163

AlBHHHe0  DemwbhIHleTenel.  SDaBBBG < @DwLBw o sfen  CFMIGSHSB
CaTemevey 16 GF.15 eeled, DIFHled FPW LSBHH 6N Hombd wirgl?

a. A cone, a hemisphere and cylinder have equal bases. If the
heights of the cone and the cylinder are equal and are same as
the common radius, then find the ratio of their respective
volumes.

b. If the volume of a solid sphere is 7241 %cu.cm. then find its

radius (;r = %J )
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95.

96.

97.

98.

c. A Thanjavur Toy is in the shape of a cone surmounted on a hemisphere.
If the diameter and the total height of the solid are 21 cm and 25.5 cm

respectively, then find its volume (Take 7= 27—2)
(&) @ &by, @M DoIHCHTeND LOBBID @F 2 (HeweT LB &LO
Slpliugiienens GComewmi(heiener. dnblleT o WFD. 2 (Hhewenulel o WFSHIHBES

FLoTH D, Gaud Siele T DB UTHHMBE FOTHAD E(HHSTEL GSLD
ATl ST DieMeYHEHHH ML G 2 _6iTen aFHHMBHDH HTEWISH.

(o) @ Havind CamensHear st e 7241 %5.@&.@ Talley  DIFHei
7Z’=%@Jﬂ§;6§)§)$ SBITCI1 5.

(®) HehaTeyT CUTDMOWITEIN DIDFHEHTNSHHT  15H  FnldDl| EeDewTHS)
QUG 2 _6iTeNFHl. DIGHOT 2 (HhHHlen el LIb oBmid GCwrdHsd 2wy (penmGul
21

.15 1oBmId 255 OF.16 eeled OIHT BT  DlTMAID  HTCWID.

22 . .
= - 616015 O\ BIT6ITED )

A and B working together can finish a piece of work in 12 days while B
alone can do it in 30 days. In how many days can
A alone finish the work?

A, B @meumid Caiba @b Galemevenul 12 HT seiled (LplgdbdlemetT. B ol Bib
laIBaiemevenul 30 BT Herled (UUTT  eelled A LB SieiGaimevenul
eTdhHemen B &erlled (LIQrimiT?

If 8 men and 6 boys can dig a well in 2 days and 6 men and 2 boys can do

it in 3 days how long will 5 men and 3 boys take to do it?

8 SLeiBEHD 6 FpeuTHEpd 2 BT Herlled qh PHlewrm Geu’ L (pguild LoBEID
6 SMIBEHD 2 FpeuTeend 3 BTL&6N0 Sewd OFUiwieomd eelled 5
SemIBEHD 3 FpeuTaend CFbal DibdH Goauenevenul (PIRsHsE 615HHEME [HTL &H6iT
GxmemauliLI(BLD?

A can do a piece of work in 20 days, B in 15 days and C in 12 days. In how
many days can A finish the work if he is assisted by B on one day and C
on the next, alternately?

‘A’ Q(h BouemeveniL 20 BT H6MeuId ‘B’ 15 BT B6Mevid
‘C 12 priseiad it A & B q@m mrend, C @ HTEpD o
omsl o gHalemed, A eidhHemern BT SHeifled (LPIQLUILITT?

2 men and 3 women working 7 hours a day finish a work in 5 days.
4 men and 4 women working 3 hours a day do the same work in
7 days. Find the number of days in which the work is done by 7 men only
working 4 hours a day.
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99.

100.

101.

102.

103.

2 ouemigel WBEID 3 CueniseT @b Geuemevenuwt (PI9Hd FHlarwd 7 wewll GEyD
aislb 5 piLHeT  Geuemev  QEFUIHMATHET. 4 LewIHeT  LOBMID
4 Quewimer 9I8x Geauedevenw! Gauiw Herwd 3 wWelGHID  aiHld
7 BTL&6T Geuemev OFUISIBITH6T. 7 Siewidbenl Herpd 4 wewll GHID L (BHLD
Gouemev GFUIHTEL DHH GouemevenUl (PIYHPH 61HHENET BTG HLGLD?

A can do a piece of work in 15 days. After 9 days A was replaced by B and
total work lasted for 17 days. In how many days can B do the whole work
alone?

A @m Goumevenws 15 mEIL&6eMed GFuig il Geuemev STIDLIGHS
9 BILBEHGS LIBG, A-5& ufsd B orbs Goaumevenw OGHTLT SIS
17-ug  prefled  Gouemev  (p&mal  etefled, B B obs  Cousmevenwl
CauIgl (PIY&5® 61611616NT6] BT &H6T 61(hdHHiH OlBTeiTeurTT?

3 Men and 4 Women working together for 7 days, earn Rs. 3,780 while 11
man and 13 women working together for 8 days earn
Rs. 15,040. In how many days will 7 men and 9 women earn

Rs. 12,4007

3 oeider 4 Guenide 7 BTL&6T GeueweoLmThgien. 3,780 11 Syewisbelt, 13
OuemigeT 8 BT L&6T GoueweoLmTHeHHe0 eh.  15,040-1D  FLIQEIT  6T60N6v,
7 SLeWIBEHD 9 GuemwidEHD . 12,400 23 eiGHHemen BT Heilled FLlg G(HUILIT?

2 men and 3 women can do a work in 10 days. 3 men and 2 women can do
the same work in 8 days, In how many days 2 men and

1 woman can do the same work?

2 SLemIBEhHD 3 OuemisEhld b Geouemevenuwt 10 BT &6eiled GFuIul Guiguid. 3
SENBEHD 2 OueisEpd 9/8%H Gaiemevenut 8 BT Hefled OFuIw Suieid 2
ewisEHD 1 Cuedianid HIB%H Colenevenl 61&HHemaed BT H6rie0 GFuiwl Guiguib?

P can do a work in the same time as Q and R together. Also P and
Q together can do the same in 12 days. R alone does in 60 days. In how
many days can Q do it alone?

am Gaumevenws Q-ap R-b Gambg Osuigp o6x GmrsHded P-wimed
Gauwiwapgudb. P-upp Q-aib Gaiba 2185 Gaiemevenut 12 HIL Herflsd GFuig)
WHd  (igujd. Guweuid R wl Gid 2185 Gauewevenus 60 BT HerMled (P19
(Wb eTeaTBTed Q-a1med eTdhHement BT HeMed DbhH Galenevenul (1pl9dd (IPIQUD?

Two dice are rolled, what is the probability that sum of the numbers on
the dice is

(@) Greater than 8

(b) Neither 7 nor 117
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Brenih UsmLB6T o (HULLUUBD Gurg oipHer GwGev o eften  LeiTellsereor
67600160011 560 B
(@) 8 Gwed AWBLLSBHT HBLLBHH6

(b) 7 w@Bpd 11 Heveormoed HHUUSBETEN HHDSH6| LB UIeUBMBEH
STeI6LD

104. Three fair dice are rolled once. Find the probability to get the sum of the

face values as 17.
QUERIBTS SimWL GUBB  CPAIBI LSMLE6T @h (PewB 2 (HLLULGBSHBSH.
LSemLBH6iflen (HWHITGT GEBHe0 17 ud BHHS HHDHHe] WrsHl?

105. Two cards are drawn from a pack of 52 cards at random. What is the
probability that it will be a (a) diamond and a heart (b) king and a queen
(c) two kings?
Brenih FLBHeT 52 FLBF6T 2 6fem UL FLB Hlged BHbHEH FID
QUTUWILILeTTeN  (pemdBWITES 2 (Haullll (helTenidl  eleoledt SO o siTemeuBens

CuEBIeUSHBST60T BBLDHH6) BHMIHD|(B. (1) Q(H 6mL_UILDGIIT (B
(diamond) wBpid emrim. (heart) (&) @ greaT @@® Tl (&) Syewi(
BOITETHH6NT?

106. A bag contains 7 red, 12 white and 4 green balls. What is the
probability that
a. 3 balls are all white

b. 3 balls drawn are one of each colours.

R euuled 7  Heauy, 12  OeuelTewerm  IOBWID 4 UFDF  LbHSHISH6I
9 _GiT6I6NI.

9. 3 UBBHBEHD GleU6TENETUITS

), 3 LIh&IBH6IT 61GIRUTETMILD 10 BIB&H 60 B\mULSBSTET
BBLDHH6) 61601601 ?

107.  State the axioms of probability.
Papasaler aldsemen nBis.

108. What is the probability that a leap year selected at random contains 53

Sunday?
QR 6Ol UBLSHD, 53 @hTulml SHIPEHIDSHET UHEUSBHTE HHLDSHHE| 616316017

109. What is mathematical probability?
BB BHHDHH6 6TILIGH WTH?

110. A bag contains 6 which and 9 black balls. What is the probability of
drawing 2 balls?
(@) all the two balls are white balls
(b) one white and one black ball?
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24

@M euuled 6 Geusitenem BWID 9  &SOBUY UbBHS6T  E(HEHF IBeo.

SIFHHHEH DTewih LbHIH6T 6B ILIBHES eT360T.

(@) By GeusTenenll LbSHIHNTS SBLLSBSTRN BHDSHEH6

(b) & GaleiTenerll Ubg LOBOMBTEIBI B(HLIL LI &HIH6NTS
BBUUSBHTRT HBHDHH6] WTSHI?

A Hospital records indicated that maternity patients stayed in the hospital
for the number of days as shown in the following:

No. of days 3 14 |5 |6 |Morethan6
No. of patients 1513256 |19 |5

If patients was selected at random find the probability that the
patient stayed atleast 5 days.
QM  WwhsHHeUwmer  UHCalged WaLIGUBBIBETE  WHlT  HRBUNHHS
BT S6Mer alugd SO CHTHSHSLUILIL (HeTendl.

SRS WINHHS BT Serleir | 3 4 5 6 6 [BITL_ 856061
6163016001 b 6N S )[BT 3 Y1)
LD&6ITIT  6T600T6001 b 6m & 15 32 56 19 5

aauCraid  @heuemy  gweuruiliy (pemulled CaHTHOHBEGW Curgd el
GMBHSH ULFID 5 BT 6T SRHUWIHHS HHDSHH6| 6160160 !

A jar contains 1 red, 3 green, 2 blue and 4 yellow balls. If a ball is chosen
at random from the jar what is the probability that it is

yellow or green?

@ @mouied 1 deuly, 3 uFmdF, 2 [Heold, 4 IDEHFET  ULHFHIHEN
o oiteniedl.  mMuiel(Bb&H @  UbHmS  GbhHHT0  DiFH  UFmFWTSECeuT
SleVevFl WEhFTEGaT HLILSBG HHLHHe] WTH?

A wife who is 40 years old living till she is 70 with probability % as the

husband who is 50 years old living till he 80 with probability % . Find the

probability that (a) Both will be alive (b) Only wife will be alive (c) only
one will be alive (d) atleast one will be alive
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QM 40 awasHTGL el SeeusT 70 euwgd ey 2 uwiGyTlh

BBULSBHTR  HBDSHH6] % LBBID 50 WSTGL  Hewieue 80 UG

alemy o WM  SUUSBHTET  HEHDHH6] % SGID.  BPHHEMIL
BBLDSHDH6BM6NDH SIS

ol @rewih Gupd o uiGImh @ MUuUSBESTET HHDHH6)

&l weneial W G o ulGImG G mHUILSBHTERT HBHLDHH6]

®. @ W G o ulCmp SWLUSBHTET HEHLHH6]

F. @OBHSULFD  @eaugmaugk o wWiGme  SwomUusBaTar  HohsHEe)
HWIIBENBESH BT LD

On a particular day a policeman observed vehicles for speed check. The
frequency table shows the speed of 160 vehicles that pass a radar
speed check on dual carriage way

Speed (km/h) 20- |30- |40- |50- |60- |70 & above
29 |39 |49 |59 |69
No. of vehicles 14 |23 |28 (35 |52 |8

Find the probability that the speed of a vehicle selected at random is

faster than 69 km/h
between 20-39 km/h
less than 60 km/h

between 40-69 km/h

QM Bm afpFgmemeouled  GBEUILL @@  BHTefled @ HTeU6VT
ansamsaia  CousdHma Barmpemenr OCFuisTT. oauT Cargmen OFUIH
160 eunsemiseilen Gousmiseaier Hapoeuswt LLQuied SO  CETHEHSL
LIL_(HeiTerT&l.

Goumtd (.8 / wewfl) | 20- | 30- [40-49 [50-59 [60-69 [700  sumBe
29 39 Gogoid

AT GOTTRIH 61T 60T 14 23 28 35 52 8
6160016001 E560) b

QRH AUTHMSHMSF FoeuTwil (penpulsd CHThHosbBaHG Gumg SDIFH 60T
Geumsld

o 69 &S / wenll-m el DHB0TH

&b 20 &8 wenluledmpba 39 Hs / wewil eueny

®. 60 .18 / waldb@ GHoBaTs

F. 40 &S / wewiuledmbad 69 & / wewil auedy

@60UT(H GLpe0FeMeT HaeHIalener SHenibLIY
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An Urn contains 3 Yellow and 4 Green balls. Find the probability
distribution of the number of Green balls in three draws when a ball is
drawn at random with replacement. Also find its mean and variance.

Qm OameTseveied 3 WEhF6T WLBMID 4 LFMF HIBLUUBHSHIHET © 6iT6eNen. &(HLDLI
MUBGTH FIO uTUII (Wpemmulled 3 (1pewB LbHSHIHM6N QeiIBeTLlel @eimTsd
dabs&G  Gurgl SHwLEHGD UFmF  BIBL  LbSHIHeTET  6T6u0T601 5 6m 5T 60T
BHDHH LITeUenevd HTenish. Goguld FImaf, ugeuBuy SHUIIBNBES HTEwIsH.

The probability that a girl will be selected for admission in a medical
college is 0.21. The probability that she will be selected for admission in
an engineering college is 0.26 and the probability that she will be selected
in both is 0.12.

Find the probability that she will be selected in at least one of the two
colleges.

Find the probability that she will be selected either in a medical college

only or in an engineering college only.

R WTwialsh@ WHHHald Heosumilulled GFTHme &L LILSBHTH HHLDHH6]
0.21 a6, GuIBuiwed Seogumiluled GoFThens SHleLLILSBETE HHDHH| 26
B QM seouriseflend CaFrhbemsd HlMLLILSBSTE HHLHH| 0.12 6660,
9. WHhSSHeD wBpd Curpslulwed seveumflseilsd gCHaid @ SHeLaMTUNED
GoiThend SHlenLLILISBHTE [HEHDHH| HTEWISH.

&l WHSHINS Heoaumflufled L HEW oledsvg GUTPuTwEd He0euTMuUled Lo HGLOT
GaiTbend DML LILSDBHTEN HHDHDH6| HTEHISD.

a. One card is drawn randomly from a well shuffled deck of 52
playing cards. Find the probability that the drawn card is
i. a diamond ii. not a diamond iii. not and ace
b. a number is selected at random from integers 1 to 100. Find the
probability that it is
i. a perfect square ii. not a perfect cube.
(91 BTG FMVHH DIBHSIW 52 FI (hdewend OCdTenwiL B 19e0(HHSHI FLoeUTUILIL]
wopuled @m FLB abSsUIUGHBEH. UaeumarauBBiBg HabsHdHesHmend
BITGTEb.
1. Ihhd FLB LW 5 B(HdHd
. eIBdhad FLBH LUWIDew EeL60Ted B(hHdbd
1. abdd FLGB g0 FLLTH B6e060T60 B(HdHD
(&) 1 wHev 100 suemullevmedr (P 6T6mIB6eMe(HbSH FLOGUTUILIL (Wenmulled
CaMbOHBHHHLILIBLD 6 616001
L Qb (WP aTEHEEHTE (BHHSP.
ii. @wqap osenors Hevevmbed (Not a cube) Bmes B wieuBI6T
BBDHH6HM6TSH  BHTCIH.
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a. A bag contains 5 red balls and some blue balls. If the probability
of drawing a blue ball from the bag is thrice that of drawing a
red ball, then find the number of blue balls in the bag.

b. If A is an event of a random experiment such that P (A) : P(A) =
7 : 12 then find P(A)

c. There are 7 defective items in a sample of 35 items. Find the
probability that an item chosen at random is non-defective.

(@) @ eouuled 5 Jeuly BBID v Hev HBL  UHBHIHET ©_6iT6rmenl.

SllemUulel(hhEH @H BV HBL LbHenS GIBLILSBHTET HBDSHBE], @ Feull]

BBULGHM S TBUILSTBET 60T B BLDSH B 60T 3 LDL_TRI&) 6T6alleL

SllIenUulled o 6ol Hev HIBLILIHSHIHT6T  6T6mT6001 HeNHENUIG BT,

() @ Fwaumiys Camasmenulsd @b HspFd A s o P (A): P

A) = 7:12 qaflsd P(A) on srewis.

(®) 35 QuTHL ST 2 6ol @ FnmiGeuaiuied 7 QUTIHL ST GHMBUTHEML ULIGHE.

goaumuity (wempuled e OummeT CaJbOHBHEHIUBL OUTIHSH  DIICLIT(HEIT

GOBUTLBBHTS SHULSBEHTET HBHDHHEN6U SHT6HISH.

Find the point of intersection of the graphs of y = ex and y = e-x
y =eX,y = e-X euemeneuenysen Oleul19sh0smeend Leellenulds HTewnis.

Find the odd one out from the 5 figures given below:

December

November

October

September

August

1

2

3

4

5

CaThBHELIUL BeiTen 5 S LMHIS6Me0 HelenolUGSHSUILULL S LD 617

December

November

October

September

August

1

2

3

4

5

How many triangles are there in the following figure?

&0 CBETHHSUILL (BTN LILSHHe0 61HHMe (HHEHTemImIG6T 2 666t ?
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122.  Simplify
F(HHGH .
1+-—3_2
- le—%
14—
S
123.  Find the value of the following.
3 (-6 -8 5 2 -3 1 3 3
a. _{_H_H_) b 2.2 1 33
7 \11 21 22 5 7 14 7 5
{7 (-3)} {7 5} 2 -3 1 33
C.{=x| —|p+{=+— d. =x—-—-=x=
5 \12 5 12 5 7 14 7 5
BLDHHEWIL_MeUBEHDHE LODFHILDH  BHT6IH.
3 (-6 -8 5 2 -3 1 3 3
SRR e
7 (11 21 22 5 7 14 7 5
{7 (-3)} {7 5} 2 -3 1 3 3
C.{=x| —|t+{=+— d. =x———-=x=
5 \12 5 12 5 7 14 7 5
124. At 2 pm, two persons A and B starts from a place with a speed of
3 km per hour and 6 km per hour respectively. Find graphically, when the
distance between A and B will be 15 km.
HWID 2 wewld@, A, B e SwmeauT (wenpBui wewild@ 3 &S BpId 6
&5 GCousddled @61 BLHHO SbHbHH LBLILLLEIT 6IeN60  6UMTLL SHenSL
LWSTUBSHS  eIeLm(Ds SmaumdbGHo e Buw o eten gmyb 15 &b s
O (HBHGLD 6160 FHTCWIH.
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TANTENADMNMATINON TL'CLINOD NNV

DDLYINTICVEAD NDOTILCCTTINNIC

1. What is meant by DATA CAPTURE?

alouys MBHOBTETED 6TAIBT6D 6160760 ?

2. What are ROM and RAM? Explain the difference between them.

ROM  iommb RAM  eeiuenes  wieweu?  SuBpsiBg — Senl Guiwimer
GaugiLmhsener alleuflss.

3. Write about ISDN link.
ISDN @eentiienull umpsl GulliL e1(psis.

4. What is IPV6?
[PV-6 eteoimpmed 6T6dteor?

5. Differentiate between WiMAX and WiFi.
WiMAX oppid WiFiuier GeuBmieniogseir wimeneu?

6. What is cyber space? How does the World Wide Web differ from cyber
space?
g  Oeuell  eT6iIBTeL elaiiani? @& o sudenTall Lleterellell(hbd 6eT6leuTy)
GoumBaIma?

7. What is meant by "Recursion'"?
“FHeiTerTemILIL]” 6TTLIGHET OILITHeT Wimgl?

8. Differentiate Bridge, Router and Repeater in communication networks.
HHaUL OFHTLTI60 LWSLBSHSILGD UTe0D, L LIQUILITET OBMID 6UeIeYL 19&H6iT
s FwaBens CounpLbBHHIS.

9. How do you define the IP addresses of Internet and Email? Explain.
Aeweotild  oBmId e SlehFeudbster [P (pserflewows  eteleumm
QUETWBILILTUI? elens@Hs.

10.What is Database Management System (DBMS)
sIeysHen Gevteniento siemoll] (DBMS) ereiimsmed ereiteor?

11.Define the term ‘Multiprogramming’.
‘LeLBIT60 QFWIEUTHSBID 6T6ITLINSH 6UMTUIN]

12.Write a note on Bar Coding.
ULl GBWhHe0 uBpslw GBI eumTs.
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13.What is a Modem? Give its uses.
Modem eiaiiug wngl? OIHe UWeTUTL DL & dnl.

14.What is the use of data dictionary?
HT6| DIBTTHUN6T LIUI6OT 6T6oT60T?

15.What is HTTP?
HTTP ereoimsmed etesent?

16.Write about MICR, OCR and OMR.
MICR, OCR wppib OMR @sa e1(psis.

17.What is the difference between Hard-Copy and Soft-copy?

OoedTLIg oBWID eueTLIg-&E& BenL CGuiwimer Geumun® ereireor?

18.What is a Browser?
® 6ual 6T6IMBT6L 616516017

19.Expand the following memories:
a. CD-ROM
b. EEPROM
c. DRAM
&8 OaTHSHsUILL (Heiten Heneareudsmhibeiler alflouTdssHmed SHyayb
9. CD-ROM
i EEPROM
8. DRAM

20.What is E-commerce? What are its various types?
E-cuewilaid 6160113m60 616316017 OIHT QUNBHEIT WITen6l?

21.What are the challenges specific to India in providing E-governance?

@hHwmmel QUTBISHS, L6-DLEHMmBMU!  HOL (LPBLILIGSHSHIUH60 2 6iTern
FE3H60361T  WTene?

22.Convert 2607.8125 into Hexadecimal system.
2607.8125-g3 ugemmpilest SIQUILIGDL  6T6WTI(LPEDBUWITS  6T(LDSHIS.

23.Convert (101.11), into decimal number and the decimal number 983.27
into octal system.

(101.11)rn 50  ecwemmBa D 983.27 6B  HIFD  6IWTEN6NT  6TL_ ML
SIQUILIDLWITH OBHTERIL  6160I6MITSH|LD LOTMBMIS.

24 Multiply 111, by 101, using binary multiplication method.
111-g3 101,-8160 emuleoril OLBHEBD (PedBUTed OILIHESBLD.
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25.Which was the first electronic computer that belongs to the first generation

of computers?
(WFHO FHmev(penpen! GaFbhe (P&Hev LeiTeiaml HellliGLITl 61817

26.When was the first mini-computer built?
(WFHO FB HenllOUTSIE6T 6he OLewI(Bh 2 (HeUTHSLILIL L 6017

27.What is the difference between parallel processing and distributed
processing?
Bemewt CFWTHHHHMESID BBID LUTHS Hewev CFwLeTHEHHBGWD Sent Gul
o oitem Coumun® 6T6160T?

28.What is Artificial Intelligence (AI)?
CFWMBeNS HIGWT6wINI6] 61GIMTED  6163T60 7

29.Explain the various generations of computers.
sowfleufledr LIsOGouml Hemev(LpenBHeM6NLl LMK ailend @ .

30.Draw the circuit for full adder and explain the concept with truth table.
(W& SLKYEF SFBBlenel amIbhH DIH6T  GFWLLTL 19emer  GLOUILILIL 19160
Oamemi(h a6NTdhE)s.

31.List the types of high level languages and give an example for each.
o wimpleney OLompseie alendsementl LLQUueIl (b @alCeuTaSiBE@HL o SHTJewib

SH([hHdb.

32.How are computers classified by their size and power?
SHBeNEuTULD, S|6TENRIUJLD CaTent(H &6l IS B 61T TR
UMBLILBGSHSHILIBSBSHI?

33.Draw the combinational circuit for half adder and explain the concept.
SIS T U gl BF FBNlenaT UMIbHH DIHeT CFwIeOLIT 19eneT allendhEHd.

34.What is a nibble? How many nibbles that a kilobyte contains? What does
EBCDIC stands for?
BloHewih elaimTe0  eleiteni? e  HGeom  eTewIOGBH6I60  61HHEM  [HlBH6NI(HDH6N
o eitener EBCDIC eraiiugest afiflourdaid etesien?
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